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Part A: Listening

»
b/// Listen and mark your answers to questions 1-15 in the answer sheet. The audio will
be played only once.
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1) What is the woman probably going to do?
a) Hand the man a drink. c) Drink a diet soft drink.
b) Go to the store to buy a drink. d) Go without a soft drink.

2) What does the woman say about her parents’ reaction to the play?
a) They both liked it.

b) Neither liked it.

c¢) The mother didn’t like it, but the father did.

d) The m other didn’t like it because it wasn’t in English.

3) Where does this conversation most probably take place? A ....
a) supermarket b) department store c) pharmacy d) car repair shop

4) What does the man mean?

a) The teacher postponed the conference.

b) There won’t be a test this afternoon.

c) The students will be attending the conference.
d) The students took a science test that afternoon.

5) What does the man mean?
a) The program was on too late. C) The rain didn’t let up until after the speech.
b) He doesn’t like the president. d) He had a late class.

6) What is the probable relationship between the man and the woman?
a) Lawyer-client.  b) Doctor-patient. c) Dentist-patient d) Bank teller-customer

7) What does the man imply?
a) There is a quieter place available. c) He doesn’t care for tennis matches.
b) The noise should die down shortly. d) It’s even louder in the meeting room.

8) What does the woman say about Marie?
a) She’s not hungry. c) She’s at the orthodontist’s.
b) The food tastes like an old shoe. d) She’s in too much pain.

9) What does the woman say she dislikes about the store?
a) Packing her own groceries. c) A lack of variety in meats.
b) The unreasonable prices. d) The attitude of the employees.

10) What does the woman mean?
a) She does not feel well enough to return to work. c) She hates her work.
b) She hasn’t finished the assignment. d) She is still unable to walk.




11) What career does Marylin probably going to follow?
a) Home economics b) Business administration  c¢) Microbiology d) History

Section B: Questions 12-15.

12) What was the woman’s problem?

a) She was sick.

b) She couldn’t make up her mind as to which countries she should visit.
c¢) She couldn’t think of a topic for her composition.

d) She was totally disorganized.

13) What does the man suggest? That she ....
a) take a cruise. b) try to get organized. c) ride a camel. d) write about her trip.

14) Which of the following places did the woman NOT visit?

a) Hungary. b) North Africa. c) Egypt. d) The Holy Land.
15) What does the man have to leave?

a) To pack his bags for his trip. ¢) To write his own composition.
b) He’s not feeling well. d) To pick up some photographs.

Part B: Grammar

A
4 Section 1. Read each test item carefully and answer the questions by
choosing the answer (a), (b), (c) or (d). Then mark the correct choice on your
answer sheet.

16) The reason for the traffic was ... one of the drivers had lost the control of his car.
a) why b) when c) that d) how

17) The kilometer is ... as the mile.
a) as shorter b) not as long c) the lesser length d) much shorter

18) A sheet of clear glass, ... with a film of metal, results in luminously clear mirror.
a) when backed b) it is backed c) is backed d) when is it backed

19) Rubber came to the attention of Europeans ... found native Americans using it.
a) after explorers b) explorers ¢) when explored d) after explorers they

20) In what circumstances would you accept this scholarship?
a) If my brother would be given one also ) Unless I can’t get anything else

b) In case | would be able to stay with my family  d) Although I don’t want it




21) We have to read a book ....
a) every three weeks b) last week c) a week ago d) since last week

22) Please ... the necessity for arriving early.
a) emphasize about b) emphasize on c) emphasize to d) emphasize

23) Not only knowledge and skills, but also attitudes ... in school for students’ future
adjustment to society.

a) when cultivated c) cultivate

b) which needs to be cultivated d) need to be cultivated

24) ... on the environment for the gratification of its needs.
a) Each organism to depend c) Every organism depends
b) All organisms depending d) Many organisms can depend

25) The man ... to your father is my uncle.
a) that he is talking  b) whom is talking c) which is talking  d) talking

26) Which choice is correct?

a) Intelligence of the children in this school is carefully tested.
b) The intelligence of children in this school is carefully tested.
c) An intelligence of children in this school is carefully tested.
d) Intelligent of children in this school is carefully tested.

27) I fought for my country and ... before me.

a) neither my father did c) so my father

b) nor my father did d) so did my father

28) He applied for the job ....

a) in spite his poor qualifications c) despite of his poor qualifications

b) though his poor qualifications d) although his qualifications were poor

>
4 Section 2. Choose the underlined words or phrases that need to be
corrected. Mark the answers on your answer sheet.

bl 4,35 i

29) Despite they are small, ponies are strong and have great stamina.
a b C d

30) Physical therapists helps patients relearn how to use their bodies after disease or injur.

a b c d
31) There was once a widespread believe that all lizards were poisonous.
a b C d

32) Salt was once too scarce and precious that it was used as money.
a b c d — —




33) Boolean algebra is most often used to solve problems in logic, probability, and engineer.
a b c d

34) Passengers travelling to abroad are required to be at the airport before the plane leaves.
a b C d

35) Steps in writing a good essay are as follows: stating a hypothesis, giving supports for it
c

a b
and to come to a conclusion.

d

36) When a bone is broke into several pieces, doctors may pin the pieces together for

a b C
proper healing.
d
37) One of the most impressive collections of nineteenth-century European paintings
a b
can be found_to the Philadelphia Museum of Art.
c d

38) Three of every four migrating water birds visits the Gulf of Mexico's winter wetlands.
a b C d

39) Charleston was named_for Charles Clendenin, Wbﬂson George acquired land at the
a c

junction of the Elk and Kanawha rivers in 1787.
d
40) Soil temperatures in Death Valley, California, near the Nevada border,
a b

have been known to reach 90 of degrees Celsius.
C d

Part C: Vocabulary

»
b/// Read each test item carefully and answer the questions by choosing the answer (a),
(b), (c) or (d). Then mark the correct choice on your answer sheet.

Vocabulary Part 1: Gap-Filling

41) Psychological research has ... that both men and women have the same reaction to
stress.

a) entertained b) digitized ) maintained d) contained




42) The fall in the number of deaths from heart disease is generally ... improvements in
diet.

a) attributed to b) advocated by  ¢) surrounded by d) calculated by
43) | hope to get a clearer ... of the issue.

a) understanding b) noticing C) practicing d) distracting
44) Would you ... this book as science fiction?

a) expand b) communicate C) encourage d) categorize
45) Be careful not to damage other people’s ....

a) property b) behaviour C) pressure d) problems
46) Early retirement is a relatively new ....

a) stroke b) phenomenon C) community d) responsibility

47) It took a long time for the wounds to ....
a) swallow b) heal C) retire d) encircle

Vocabulary Part 2: Synonym

48) At the outset of his career, the now successful businessman, was merely a peddler.
a) end b) middle c) beginning d) final stage

49) The opaque window will prevent people from watching you.
a) transparent b) conspicuous C) not transparent d) stricking

50) Leagues are commonly formed for mutual defense.
a) Divisions b) Fractions c) Factions d) Alliances

51) Many lesions are the result of disease.
a) instructions b) moral lessons c) directions d) unhealthy changes

52) The sick man invoked God’s blessing.
a) denounced b) renounced c) violated d) prayed for

53) The city of Taipei has a very dense population.
a) sparse b) crowded C) not compact d) light

54) The consensus indicates that we will not enter into this pact.
a) general agreement b) disagreement C) report d) prediction

55) Like many people, the manager is susceptible to flattery.
a) free from b) easily affected by c) defeated by d) disgusted with




Part D: Reading Comprehension

»
L/// Read the texts carefully and choose the best answer to the questions that follow.

Eﬂ Reading 1

confirming that the team is the best in

league. This is the third year that Bromson

Hill has won, exciting both the team and
the fans. This year, the team was challenged in a close game again Freeport. The
final score was 3-2. All three goals were scored by senior Alison Levin and the
men who was elected MVP of the league after the championship. Indeed, Levin's

for year at Bromson Hill have showed that she is a star.

Levin is humble about her skill, making sure that everyone knew it was the team,
not her, who let Bromson Hill to victory. “We couldn't have done it without each
other”, she said. “There are 11 players on the field and each one is important.” As
for the MVP award, levin simply felt ecstatic “My eyes teared up when they call
my name,” she said. Once she was on the stage to collect her word, she announced
to the audience “I like to thank my team and my coach for this honor. It's been a
great year!” Brompton Hills coach Jessica Wallis along with Levin’s teammates
feel a bit differently about Alison whom they call “Al.” “Al is number one in the
league. She’ll be shy about it but we owe this win to her. She's been an inspiration
to all of us on the team. It will be sad to see her go next year,” said Britney Clark,

a defender that plays for Bromson Hill.

Although Alison will miss Bromson Hill team, she is excited about the prospect
of playing in college. Alison will be playing for the University of Virgil women's

team, which is one of the best and the country.




56) What would be the most suitable headline for the article?
a) Bromson Hill Leads Team to Win

b) The Coach Jessica Wallis Is Proud of Victory

c¢) Bromson Hill Is the Best in the League

d) The University of Virgil accepts Bromson Hill Student

57) What is suggested about Alison Levin in the article?
a) She isn't a prideful person. c) She respects her coach, Jessica.
b) She didn't deserve the MVP award. d) She believes that the victory was hers

58) Based on her comment, what is Britney Clark probably worried about?
a) Alison doing poorly in college c) The coach getting angry at the team
b) The team will lose strength next year d) getting extremely depressed without Alison

59) In line 13, the word “ecstatic” is closest in meaning to .............. .
a) joyful b) grateful c) doubtful d) dissatisfied

60) In line 20, the word “prospect” is closest in meaning to .............. .
a) fear b) success C) surprise d) expectation

61) Why does the author mention that Alison Levin teared up at the league awards
ceremony?

a) to show that she felt a lot of emotion

b) to explain her anger that her team wasn't recognized

c) to describe the pain in her leg at the last soccer game

d) to prove that she was unhappy about winning the word

Eﬂ] Reading 2

Big Bend National Park in the
southwest of Texas is one of the most
majestic dessert areas in the United
States. It is part of Chihuahua, which
is one of the largest deserts in North
America and stretches over both

America and Mexico. Big Bend [

National Park is home to mountains,
rivers, basins, valleys, as well as many plants and animals. It is not as popular of

a national park as some others. This may be because it takes an extremely long

} 7




time to get there. Big Bend National Park is hundreds of miles from the nearest
legitimate town or airport. When people go there, they need to make sure that

their cars have plenty of gas. There is a large risk of running out.

When the visitors get to the park, they usually happy that they drove all the way.
The park is 1,252 square miles of dessert beauty. There are beautiful cactus
blooms as well as glorious sunsets. The hiking trails are magnificent. Visitors can
stay in a lodge that is run by the park or camp with their own equipment.
However, visitors should be careful. Even though the park is incredibly hot during
the day, the lack of moisture in the air makes the heat dissipate at night. The

nights at Big Bend are surprisingly cold. It's important to bring a warm sleeping

bag.

62) Which title best summarizes the idea of the passage?

a) A Place of Desert Flowers c) Cactus Blooms at Big Bend
b) National Park to Be Visited d) A Desert that Is Cold at Night

63) In line 16, the word the “lodge” closest in meaning to ............... .
a) bed b) inn C) cavern d) restaurant

64) In line 18, the word “dissipate” is closest in meaning to ................... .
a) destroy b) disturb c) discover d) disappear

65) Why does Big Ben get cold at night?

a) Precipitation usually comes at night.

b) It is too arid to hold the heat in the air.

c) The air is too clear and breathable for warmth.
d) Deserts like Big Bend experience harsh winters.

66) Which of the following is NOT mentioned about staying overnight at Big Bend?
a) It better to stay in the lodge.

b) There are generally two different ways to sleep.

c) Visitors can bring their own camping equipment.

d) It's too cold outside without a warm sleeping bag.

67) Why don't people visit Big Band more often?
a) It is too cold for some visitors.

b) A lot of people don't want to visit Texas.

c) Most cars are not strong enough to get there.

d) It is very far away from a town or an airport.

—_—




Eﬂ] Reading 3

For atime, the Hubble telescope was the
brunt of jokes and subject to the wrath
of those who believed the U.S.
government had spent too much money

on space projects that served no valid

Discovery in 1990 amid huge hype and expectation. Yet after it was in position,
it simply did not work, because the primary mirror was misshapen. It was not
until 1993 that the crew of the Shuttle Endeavor arrived like roadside mechanics,
opened the hatch that was installed for the purpose, and replaced the defective

mirror with a good one.

Suddenly, all that had originally been expected came true. The Hubble telescope
was indeed the “window on the universe,” as it had originally been dubbed.
When you look deep into space, you are actually looking back through time,
because even though light travels at 186,000 miles a second, it requires time to
get from one place to another. In fact, it is said that in some cases, the Hubble
telescope is looking back eleven billion years to see galaxies already forming.
The distant galaxies are speeding away from Earth, some traveling at the speed
of light.

Hubble has viewed exploding stars such as the Eta Carinae, which clearly
displayed clouds of gas and dust billowing outward from its poles at 1.5 million
miles an hour. Prior to Hubble, it was visible from traditional telescopes on earth,
but its details were not ascertainable. But now, the evidence of the explosion is
obvious. The star still burns five million times brighter than the sun and

illuminates clouds from the inside.

Hubble has also provided a close look at black holes, which are described as

cosmic drains. Gas and dust swirl around the drain and are slowly sucked in by




the incredible gravity. It has also looked into an area that looked empty to the
naked eye and, within a region the size of a grain of sand, located layer upon layer

of galaxies, with each galaxy consisting of billions of stars.

The Hubble telescope was named after Edwin Hubble, a 1920s astronomer who
developed a formula that expresses the proportional relationship of distances
between clusters of galaxies and the speeds at which they travel. Astronomers use
stars known as Cepheid variables to measure distances in space. These stars dim
and brighten from time to time, and they are photographed over time and charted.
All the discoveries made by Hubble have allowed astronomers to learn more

about the formation of early galaxies.

68) The author states that the Hubble was not always popular because
a) people were afraid of what might be found.

b) many people believed space exploration was a waste of time.

c) it was defective for its first three years in space.

d) it was more expensive than most space shuttles.

69) The word “brunt” in line 1 is closest in meaning to ................. .
a) subject. b) expense. C) contentment. d) unhappiness.

70) The word “wrath” in line 2 is closest in meaning to ................... .
a) interest. b) contentment. c) fury. d) pleasure.

71) The author implies that at the time the Hubble was initially deployed from Earth
a) there was little attention paid to it.

b) all attention was focused on the space shuttle, not the Hubble.

c) there was considerable excitement about the potential uses.

d) it was already known that the mirror was defective.

72) The word “misshapen” in line 9 is closest in meaning to .................. .
a) unusual. b) useful. c) expected. d) distorted.

73) The word “it” in line 15 refers to ................ .
a) one. b) space. c) light. d) second.

74) The author implies that the satellite that carries the Hubble was specifically designed
so that ................ .

a) the known defective mirror could be replaced in space rather than on Earth.

b) maintenance could be done by traveling astronauts.

c) the Hubble could move easily.

d) the mirror could contract and expand. _

—_—




75) The author compares the astronauts of the Endeavor to .....................
a) astronomers. b) scientists. €) mechanics. d) politicians.

76) The author states that Edward Hubble ........cccccoiviiniiiiiiniiiinnnnn.. .

a) developed the Hubble telescope.

b) was the first person to use the Hubble telescope.

c) developed a mathematical formula to measure speed and distances between galaxies.
d). was a politician who sponsored funding in Congress.

77) The word “dubbed” in line 13 is closest in meaning to ................ .
a) detracted. b) named. c) anticipated. d) purchased.

78) The author states that ........cccceeiiiiieiiiiiiiiiiieiiiiinnieeinnenn

a) when viewing a distant galaxy through the Hubbell telescope, you are actually looking back
in time.

b) the new mirror distorts the image.

c) the view from Hubble is not accurate, but it is interesting.

d) you cannot discern distance or time with any kind of accuracy.

79) According to the passage, a Cepheid variable is .......cccoovviiuiieiiiininnnnnns .
a) a star c) a Hubble calculation
b) the dimming and brightening of a star d) a mirror

80) The author implies that a black hole is analogous to ..........ccceviiiiiiiiiniiinniinnnn.
a) water draining in a bathtub b) a galaxy c) a group of stars d)a cIoud

Part E: Writing

81) Choose one of the following topics and write an essay about it. Write for at least 100
words in no more than 20 minutes.

A) Some people say it is important to keep your home and your workplace tidy, with
everything organised in the correct place. To what extent do you agree or disagree? Give
reasons for your answer and include any relevant examples from your own experience or
knowledge.

B) Universities should accept equal numbers of male and female students in every subject. To
what extent do you agree or disagree? Give reasons for your answer and include any relevant
examples from your own experience or knowledge.

THIS IS THE END OF THE TEST.

Good Luck




